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 B. Sc. (Part II) EXAMINATION, 2020 

CHEMISTRY 

Paper Second  

(Organic Chemistry) 

Time : Three Hours ]  [ Maximum Marks : 33 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 
vfuok;Z gSA  

 Attempt all the five questions. One question from each 
Unit is compulsory.  

bdkbZ&1 

(UNIT—1) 

1- ¼v½ fQukWy ,oa ,sYdksgkWy dh vEyh; izdf̀r dh rqyuk dhft,A 2 

Compare acidic nature of Phenol and Alcohols. 

¼c½ jhej&Vheku vfHkfØ;k dh fØ;kfof/k fyf[k,A 2 

Give mechanism of Reimer-Tiemann reaction. 

¼l½ fuEufyf[kr ifjorZu vki dSls djsaxs \ 3 

(i) fQukWy ls fifØd vEy 

(ii) fXyljkWy ls ,Øksyhu 

(iii) XykbdkWy ls QkWfeZd vEy 
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How will you make the following conversion ?  

(i) Phenol into Picric acid 

(ii) Glycerol into Acrolein 

(iii) Glycol into Formic acid 

vFkok 
(Or) 

¼v½ Lis.Vykb ls fXyljky vki dSls izkIr djrs gSa \ 2 

How will you obtain Glycerol from Spentlye ? 

¼c½ dksYcs&f’eV vfHkfØ;k dh fØ;kfof/k fyf[k,A 2 

Give mechanism of Kolbe-Schmidt reaction. 

¼l½ fuEufyf[kr vfHkfØ;kvksa dks iw.kZ dhft, % 3 

Complete the following reactions : 

(i) (CH3)3C – OH 
Cu

300 C
   

 

(ii)             + Zn    

 

(iii) 2 4

2

H SO
3

2

CH OH

|

CHOH + 3HNO

|

CH OH

   

bdkbZ&2 
(UNIT—2) 

2- ¼v½ ukbVªkby ls dhVksu la’ys”k.k dh fof/k fyf[k,A 2 

Give the method of synthesis of ketones from nitriles. 
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¼c½ ,YMksy la?kuu dk mnkgj.k lfgr o.kZu dhft,A 2 

Explain Aldol condensation with suitable example. 

¼l½ D;k gksrk gS tc \ 3 

(i) dSfY’k;e ,lhVsV dk ‘kq”d vklou fd;k tkrk gSA 

(ii) ,lhVksu dh fØ;k 2NaOH - I  feJ.k ds lkFk gksrh gSA 

(iii) VkWyqbZu dk Øksfey DyksjkbM ls vkWDlhdj.k djrs gSaA 

What happens when ? 

(i) Dry distillation of calcium acetate is done. 

(ii) Acetone reacts with NaOH –I2 mixture. 

(iii) Toluene is oxidised with chromyl chloride 

vFkok 

(Or) 

¼v½ QkWesZfYgkbM ,oa veksfu;k dh fØ;k dk larqfyr jklk;fud 

lehdj.k fy[kdj cuus okys mRikn dk uke crkb,A 2 

Give balanced chemical equation for the reaction 

between formaldehyde and ammonia and give name of 

the product also. 

¼c½ ukfHkdLusgh ;ksx vfHkfØ;kvksa ds izfr fØ;k’khyrk dk Øe 

fuEukuqlkj gksrk gS] D;ksa % 2 

      3 3 3

O O O
|| || ||

H H CH H > CH CHC C C        
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Order of reactivity towards nucleophilic addition 

reactions is as follows, why : 

3 3 3

O O O
|| || ||

H H CH H > CH CHC C C         

¼l½ fuEufyf[kr vfHkfØ;kvksa dks le>kb, % 3 

(i) jkstueq.M vfHkfØ;k 

(ii) LVhQsu vip;u 

Explain the following reactions : 

(i) Rosenmund reaction  

(ii) Stephen reduction 

bdkbZ&3 

(UNIT—3) 

3- ¼v½ HVZ vfHkfØ;k ij ,d laf{kIr fVIi.kh fyf[k,A 2 

Write a short note on HVZ reaction. 

¼c½ ,LVj ds vEYkh; tyvi?kVu dh fØ;kfof/k fyf[k,A 2 

Give mechanism of Acid catalysed hydrolysis of Ester. 

¼l½ fuEufyf[kr vfHkfØ;kvksa dks iw.kZ dhft, % 3 

(i)  
4

H

LiAlH

O
||

R OHC     

(ii) R – C 22H O

H
N

  

    

(iii) R – COONa + NaOH CaO


   
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Complete the following reactions : 

(i)  
4

H

LiAlH

O
||

R OHC     

(ii) R – C 22H O

H
N

  

    

(iii) R – COONa + NaOH CaO


  

vFkok 

(Or) 

¼v½   ,oa    gkbMkWDlh dkcksZDlh vEyksa ij Å”ek dk izHkko 

crkb,A  2 

Give effect of heat on   and  hydroxy carboxy acids. 

¼c½ ySfDVd vEy ds la’ys”k.k dh fof/k crkb,A 2 

Give method of synthesis of Lactic acid. 

¼l½ fuEufyf[kr vfHkfØ;kvksa dks le>kb, % 3 

(i) dksYcs dh fo|qrvi?kVuh vfHkfØ;k 

(ii) gqalMhdj vfHkfØ;k 

(iii) f’eV vfHkfØ;k 

Explain the following reactions : 

(i) Kolbe’s electrolytic reaction 

(ii) Hunsdiecker reaction 

(iii) Schmidt reaction 
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bdkbZ&4 

(UNIT—4) 

4- ¼v½ ukbVªkscsathu cukus dh ,d fof/k fyf[k,A 1భ
మ
 

Give one method of preparation of Nitrobenzene. 

¼c½ veksfu;k dh rqyuk esa ,fuyhu nqcZy {kkj gS] D;ksa \ 1భ
మ
 

Aniline is weaker base than Ammonia, why ? 

¼l½ csathu Mkb,stksfu;e DyksjkbM ls izkjEHk djds fuEufyf[kr 
;kSfxd vki dSls izkIr djsaxs \ 3 

 
(i)  

 

 

(ii)  

 

 

(iii)  

 

How will you obtain the following compounds starting 
from Benzene diazonium chloride ? 

 

(i)  

 

 

(ii)  

 

 

(iii)  
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vFkok 
(Or) 

¼v½ gkWQeSu&czksekekbM vfHkfØ;k dk o.kZu dhft,A 2 

Explain Hoffmann-Bromamide reaction. 

¼c½ D;k gksrk gS tc % 2 

(i) izkFkfed ,ehu dh fØ;k CHCl3 ,oa NaOH ds lkFk 

djrs gSaA 

(ii) ukbVªkscsathu dk Fe ,oa HCl }kjk vip;u djrs gSaA 

What happens when ? 

(i) Primary amine reacts with CHCl3 and NaOH. 

(ii) Nitrobenzene is reduced with Fe and HCl . 

¼l½ ukbVªks,Ydsu ,oa ,fYdy ukbVªkbV ds jklk;fud xq.kksa dh 

rqyuk dhft,A 2 

Compare the chemical properties of Nitroalkane and 

Alkyl Nitrite. 

bdkbZ&5 

(UNIT—5) 

5- ¼v½ isIVkbM ca/k D;k gS \ ;g dSls curk gS \ 2 

What is Peptide bond ? How is it formed ? 

¼c½ LØki la’ys”k.k ij ,d fVIi.kh fyf[k,A 2 

Write a note on Scraup synthesis. 

¼l½ ¶;wjsu dh vk.kfod d{kd lajpuk ,oa ,sjksesfVd izdf̀r dks 

le>kb,A  2 

Explain molecular orbital structure and aromatic nature 

of Furan. 
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vFkok 
(Or) 

¼v½ fToVj vk;u ,oa lefoHko fcUnq dks ifjHkkf”kr dhft,A 2 

Define Zwitter ion and Isolelectric point. 

¼c½ ikbjkWy ,oa fijhMhu ds {kkjdh; LoHkko dh rqyuk dhft,A 2 

Compare basic nature of Pyrrole and Pyridine. 

¼l½ fQ’kj&b.MkWy la’ys”k.k ij ,d fVIi.kh fyf[k,A 2 

Write a note on Fischer-Indole synthesis. 
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